0000000000 (00)

—0oooooooboogooboon —

1. 0ogggoooooogooo

nd 30000000000000 K, OODOODODODOOOOOOOobOOoDbooOoo
uboooob 0000000000 O000

e JOODO v OODOODODO

e JO00OOODOODOODOOO

e J0ODOUODODODODOO
e JOODOODODODODO ---

O0000000(00000oon)

2. 00000040000

0 400000020000000000000DO0ODOODOODOODODOODO

goo :
1234 — 1243 — 1342 — 1324 — 1423 — 1432
— 2431 — 2413 — 2314 — 2341 — 2143 — 2134
— 3124 — 3142 — 3241 — 3214 — 3412 — 3421
— 4321 — 4312 — 4213 — 4231 — 4132 — 4123

° goooobooboobooboboboboboboboboboboboobDonDo
goooooooooogoogoogoog

x[1]=a; x[2]=b; x[3]=c; x[4]=d;
x[3]1=4d; x[4]=c;

x[2]=c; x[4]=b;
x[3]=b; x[4]=d;
x[2]=4d; x[4]=c;

x[3]=c; x[4]=b;

° gooooobooboobooon

. ugboboougoobon - bbbouoggooon

o aaababbbaa

00000000000 e« 0000000030 00000000O0O0O0O0O0O0O0OO
O abb O aaababbbaa OO0 000



0 ogooog

e OO0 1,2,---,mO000000 mM"+(n—1)000000
e 00O 1,2,---,mO0000 nOUOO0O0OOO0DOOO0OOOO

0000000000 ( de Bruijn sequence ) 0000

0 e IO DOOODLODOODDOOODDOOODDOOOmMOODDDOO
000 1/pn 00000000

e IO DOODOODDOODOODDO

gooooooooooon

1. 000000000ooo0o0 b=(V,A)ooooo

o (n—1)0000000000 VOOOODOOO O

ocv,welV oo

vO000 (n—-2)00 =wO0 (n—2)00
000000000 »wDOOODO
2. D000o0oo0Oooon
Vg — V] — - — Up — U
ooood

3. D00O0w(nOODODOODO)(vpyoOOoODoO).---000000oooooboooo

m=2,n=3 00

1

V ={aa,ab,ba,bb} 0000000 DOOOOO:
DOO00D0DO0O0OOoO0OooOg @

aa — aa — ab — ba — ab — bb — bb — ba — aa '2/ ‘\8
O0o0o000ooooooooooooon ab 3 - ba

aa,a,b,a,b,b,b,a,a \ 4 /
5 7
D

6

m=>5n=300

0001002003004011012013014021022023024031032033034041042043044111
211311412212312413213313414214314422232242332342432443334244400



